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a+b=? (azzxb) (a-b)? _(a+b)
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X+y
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3.F:%+12
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—(F-12)=c
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4. M =2K(x+Y)
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5() L=K-M N K=—
(1) ) Y
L " P " .
E:M:(I) Aolall a9 M:E (1) Aolall e
: P L L . P
P=L ) —=— Ga=u 3. M=— Lalg M =— .
TR ETRT ) e M=
P
6.y= - X
Y=3°p
(3—P)-y=Px
3y =Px+Py
3y =P(x+Y)
3y _p
X+ Y

7. 4P%y +5x =18— Py
Aalall e &> 3y Jiad
4P’y + Py =18 -5x
y(4P? + P) =18 — 5x
18 —5x
TAPT4+P

X
8. y okl s

T =xy? + xyz
9.T =x(y* +y2)
T
2 =X
y +Yyz
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10. b’m =5n-(K +b?)

2
™M _ k4 b2
5n
b2 _pz_k
5n

bz(ﬂ—1j= K
5n
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14. a®* +2ab+b® =a+2ab
ide hasmis Aalall 9,k (e 2ab Cdads
a’+b*=a

b? =a—a?

b=+va-a?

2 (a+h)® (a+b)a+D)
15-(@-b) ~(a—-h)(a+b) (a—b)(a+rby
(a—b)*(a—-b)=a+b

(a—b)’=a+b
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